
Belarus 

The result of qualifications is calculated on the basis of: 

■ certificate of secondary comprehensive education 

Results will be calculated as follows: 

■ results of secondary school leaving examination are treated as basic level, so the 
conversion factor 0.6 is used: 

 
 grade  10 = 100 p.  

grade   9 = 90 p. 
grade   8 = 80 p. 
grade   7 = 70 p. 
grade   6 = 60 p. 
grade   5 = 50 p. 
 
When a certificate states that a subject considered in the admissions process was 
taught at a higher level, UKR may treat the result achieved in this subject as extended 
level. 
 
In case of lack of information on the level of the subject taught, UKR treats the result 

as the basic matura exam and the result is multiplied by a factor of 0.6. 


